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000000000 2000000000000000000000000000, 00
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D000000000000000000.

41 OJO0O0OOOOOOOO
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p = pRT. (4.1)

000,000000000000000000.000000,00000000000
oooo,

U = C,T + const (4.2)
ooooo.ooo ¢, 0o0oo0oooao.
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pV =nR*T (4.3)

*lQpp 30000000,000000 z,y,200000000000000,0000,x,y,200
000000, 000000000000000050000.
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= — —T 4.4

P=3 0 (4.4)

000.p=m/V 00000, (41)0 (44000000
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R
M
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m 000000000 0000*0O00 (000 28.01) 7551 %, 00 (00O
32.00) 23.01 %, 0000 (0OO 39.95) 1.286 % 00000000, 0000
00 M = (28.01 x 75.51 4 32.00 x 23.01 + 39.95 x 1.286)/100 = 28.97 0O O.
00000 R=R*/28.97=287.0JK kgt DO O.*

00000000000000000000000 ¢, 00000 R*O 200
2000000000000000 200000000000000°00000
000 C,=C,+RO00,*00000000000000000000O0 G,
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p=Z(p) (4.6)
0000000,000000000000
f(p, p)=0 (4.7)
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4.2 0000000000

00 (47)000000000000000 (barotropic fluid) 000. 000 (4.7) O
00000000000000000000000000000000000000. O
00,(4.6) 0000000000

d7
Vp=—Vp
dp
VpO VpOQOGOooooooo,
d.7

000,46 00000000 p00O0O0U0 pO0000OOO0OOOO.
ggogooooboooobo,bbbbbodooooooobobooboboboboogoooon
000000000000. 000000000000 (baroclinic fluid) DO0O0O00O. O
goboobbodooouobbbooogobbooooobb bbb ooobboboo
0, barotropic fluid 0000000000000 0O (D0O0D0ODODOOOOOO (DOO
0)00), 00, baroclinic0 000000000 DO0ODOO.
ggobbuoooobobboooobbboooobbboooooo.

good
gogobboooob,bbboooobobbooon.

p = po(= const). (4.9)

gobggoougd

O00O00o0boO0oO0o0oOoDoobOooogn Ip=const. UOOODOODO:

p = pRTy. (4.10)
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000. (4.12) 0 Poisson 000000000,

4.3 BoussinesqUOOODOOOO

gdddooooooooboobobobobobobobobobobobboob,0oooon. ogad
O0,000000000000000000D00 BoussinesqUOOOOODOOODOOO
gooooono.

obOoboo0o30b0oobobobobooobooboooo,bon

p=f(pT) (4.13)

O000. 000, f00000000O0O0O0O. 00000000000 Ty, 00 po0O0O
OO0 Taylor 000O0,000 1000000000
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=po
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e (8) o (), 71}

1 3,0)
— () =0 4.14
Po (6w - (4.14)

oooooo,

goooooaad,

p=po[l —a(T —Tp)], (4.15)
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“ Po (3T v (4.16)



4.3 BoussinesqUOOOOOOO

000" (415 000000000000 Boussinesq0O0OODODOO. 000000
000000000, 000b00000b000Db0O000DO Boussinesq DO QOOOO
0.000,e«000000,0000000000000.%
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1. 00Do0,000000000000,00000O0O0O000DOOOODODOOO
OO000 RODDOOODO.

2. 00000000 df =TdS —pd(p™}), 0000000000 p=pRT,O
00 dd =C,dT 0000, (411)000000.

3. (4.12) O Poisson 000000000, Poisson D0D000000O00ODOOO
00000, T,p000000,

00000000000.000,7T,0 pp000000000. 00,000
0~y=C,/C, 000.

*8 (4.14) O
<@> _ 9p, 1)
8p T 8(p7T)
_ 9(p,5) (T, p) O(S,p)
o(p, S) 9(S, p) O(T, p)
SOR(GRES
8p S or P or p
1 C
:gc—p (4.17)
000000000. 00,000000 ¢s =+/(0p/0p)s 0000000000000, 00000

000000 Boussinesq 000000000000 OOOODDOOOOCOOD.

*9(4.16)DDDDDDDDDDD,DDDDDDDDDDD,DDDDDDDDDDDDDDDDDDDD
goooooooog. EII:II:II:I,(Bp/BT)p<O. cob,0b0o00b000o000o0b00boboon, oo
oobooooooooD. pp0O0O0O0oDOOOOO0OODOObOOO.




